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SECTION-A
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i) General Awareness

Khangchendzonga National Park and
biosphere reserve is located in

(A) Arunachal Pradesh
(B) Himachal Pradesh
(C) Sikkim
(D) Assam

Magadha empire was established on
the bank of

(A) Yamuna river
(B) Son river

(C) Gomati river
(D) Sarayu river

The Harappa site Lothal is situated in
(A) Maharashtra

(B) Rajasthan

(C) Lahore

(D) Gujarat

Samkhya, is one of the six philosophical
schools of ancient India, its founder is

(A) Patanjali
(B) Kapila
(C) Goutama
(D) Jaimini

Which of the following is/are not the
principles of Ashoka's Dhamma ?

(A) Propagation of Buddhism
(B) Worship

(C) Sacrifice

(D) All the above

6.

10.

The famous Sanchi Stupa, one of the
Asoka's architectural epitome is located
in

(A) Bihar
(B) Uttar Pradesh
(C) Madhya Pradesh

(D) Orissa

Unit Value of Terra Byte is
(A) 108 (B) 10°
(C) 1012 (D) 1015

Fall of Indian Rupees against Dollar may
help to

(A) Importers
(B) Exporters
(C) Increase foreign exchange reserve
(D) Travellers who travels from India

What does UNFCCC stands for

(A) United Nations Framework
Convention on Climate
Co-operation

United Nations Framework
Convention on Climate Change

United Nations Framework
Convention on Climate and
Co-ordination

United Nations Framework
Convention on Co-operation
and Co-ordination

(B)

(C)

(D)

Recently Flipkart was sold and it was
taken over by

(A) Alibaba
(C) Walmart

- (B) Paytm
(D) Apple
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(A) ddsite

(B) Hfue

(C) Tia"

(D) St

frefafaa & & F9-3 s % 9w F
remadia ?

(A) Tg g = T=R

(B) I

(C) &

(D) 3% axft

10.
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A - A
i) | AR
. WS TS Sa 3RSt R & | 6. e wieh v, S Tt % arwg SRwE
T S7afea B | T8 B, A feme |
(A) STRUITES W29 (A) Teer
(B) feur=t wem (B) ST Hadl
€) fufFrm (C) @ed yew
(D) 37EH (D) 3
Y AT ¥ R ey | 7 X0 SR TG AW R
7T | (A) 106 (B) 10°
(A) TG T (C) 10'2 (D) 10%
(B) W 7 8. Siem ¥ vt el Fq H i
(C) et et I TR R Tl & |
(D) &g el (A) TR
- (B) Tt
(A) TERTSS (D) T S R A S
(B) TSRYH
(C) R 9. UNFCCC 1 foear &9 2
(D) TR (A) United Nations Framework

Convention on Climate
Co-operation

United Nations Framework
Convention on Climate Change

United Nations Framework
Convention on Climate and
Co-ordination

United Nations Framework
Convention on Co-operation

and Co-ordination

B B ° foeruenre 3= 778 3 2d
g1 Ffemfea foran mam |

(A) FAeframan (B) wmw
(C) dTeHTe (D) TwHw

(B)

(C)

(D)



11.

12.

13.

14,

15.

Currencies held by the public or by the
banks are called

(A) High powered money
(B) Low powered money
(C) Broad money
(D) BothB and C

In India monetary policy is regulated
by

(A)
(B)
(C)
(D)

Union Finance Ministry
RBI
Both A and B

Finance Ministry, RBI and State
Governments together

Which of the following particular is the
second largest revenue expenditure of
the Central Government ?

(A) Salaries
(B) Pensions
(C) Defence
(D) Crude oil

Which of the following city is not a
western coast city of U.S.A. ?

(A) Loss Angels
(B) California

(C) San Francisco
(D) New York

2019 Air India Expo will be held in
(A) Pune

(B) Mumbai

(C) Bangalore

(D) Nagpur

16.

7

18.

19.

20.
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Which of the following statement given
below correct about cell ?

(A) Only nucleus contains DNA

(B) Inplantcells chloroplast also contains
DNA

Both are right
Both are wrong

(©)
(D)

Krishna river flows through

(A) Maharashtra, Karnataka and
Andhra Pradesh

Guijarat, Karnataka, Maharashtra
and Andhra Pradesh

Maharashtra, Karnataka, Telangana
and Andhra Pradesh

Gujarat, Telangana, Maharashtra,
Karnataka and Andhra Pradesh

(B)
(©)

(D)

In India Chief Justice of High Court is
appointed by

(A) Central Government
(B) State Government
(C) Governor

(D) President

Who has the authority to issue ordinance
bill in India ?

(A) Council of Ministers

(B) Prime Minister

(C) President

(D) Supreme Court

Present Agriculture Minister of Union
Government is

(A) Narendra SinghTomar

(B) Chaudhary Birender Singh
(C) Radha Mohan Singh

(D) Ram Vilas Paswan
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12.

13.

14.

15,

S AT SRl < T8 TEl JETd
FEATd! 2 |

(A) I=d Siferd =1 G4

(B) T wifger =1 e

(C) oes ==

(D) B3 CaMl

ara d Dz A gm0 fafafya
FIAHR |

(A) e fore TaTe

(B) ITReaTE

(C) BHI A 3B

(D) Tora TaTera, STREfaTs 3T Ty iRl
3 T 919

Traferiad 1 & S -6 5 TR & U5
= ¥ E0 gl 921 R 7

(A) =ad

(B) UM

(C) T&m

(D) F=a1add

fPafafaa dasm-aram
TR ITRA TR ?
(A) &9 TSed

(B) ehfeTmifaT

(C) A Fifdrn

(D) =T
019 F R EfEm T 000 0#
Ul

|
(A) T
(B) H=s
(C) SR

(D) #rTE

Juan & ufverh
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17.

18.

19.

20.
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FifyrER & w1 ° F=fRad - Fum
TER?
(A) el sheeh H SITIT BT &
(B) UTEY HImEhIa] # deirivere o
off SeAT e &
(C) i et
(D) 2T &

FONTE W EE e |
(A) HEWTE, Friceh TR AT Yo
(B) TSR, e, HERT 3
MY TN
(C) WEWIe, Ficeh, derTHT 3T 3Ty HawT
(D) TSI, AT, HERT, FAleh 3R
Y g9

G T 329 AATeE o e =R
(ERIES] FA R |

(A) 3 THEX

(B) T<a TR

(C) T=IITA

(D) Trsgafa

0E § {earey 9l i i wifeRt forges
Ta R ?

(A) TEofee

(B) vy W

(C) Tregafd

(D) HaT=q =A™

% TR F T FHY 5t §
(A) iz g

() =t forlz Rz

(C) T e g

(D) T forema qrEa
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ii) General Intelligence and Reasoning Ability

Complete the analogy 100 : 625 :: 80 : ?
(A) 216 (B) 400
(C) 500 (D) 640

Find the missing number in the square.
64 | 80 |12

25 [ 11 | 6
164 [125] 2
(A) 17 (B) 18
(C) 16 (D) 15

Pick the odd one out among the pairs,
(4, 16), (5, 30), (6, 42), (7, 56).

(A) (4,16) (B) (5,30)
(C) (6,42 (D) (7,56)

Write the number opposite to 3 in the
above cube.

(A) 5
(C) 1

(B) 2
(D) 6

Choose the right option for « in the order for
the equation (183 +9) » (14~ 11) » 13 =3,
(A) +x+=+ (B) —x—+
(C) x+—+ (D) xx—=+

Kamal is five times older than her sister
Veena who is 2 years less than her
brother Vinay. If Vinay is 10 years old,
then what will be the age of Kamal ?
(A) 56 Years (B) 42 Years

(C) 40 Years (D) 35 Years

27.

28.

A B, C,Dand Eare 5boys. A,BandC
play Football ; B, D and E play Tennis ;
A, B and E play cricket ; C, D and E
play Hockey. Who plays only Football
and Hockey ?

29.

30,

(A) A (B) B
(C) D (D) C
Complete the Analogy in the following
figures.

< \:|lS|:1V|:?
wiM| &l
(C) W (D) none of these

In a game of musical chairs, 16 girls are
participating. Every round of music will
have 2 minutes duration. An interval of
5 minutes is given after every 5 rounds
of music. How much time will it take to
complete the game with the condition
that after each round there is a decrease
of 1 person ?

(A) 47 mins.
(C) 38 mins.

(B) 45 mins.
(D) 40 mins.

Anil introduces Mohan saying “He is
the husband of the grand daughter of
the father of my father”. How is Mohan
related to Anil 7

(A) Son-in-law
(B) Brother

(C) Brother-in-law
(D) None of these
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i) WTETR FRgEAT AUT Aliches AT

THEIAT U1 THifSTC 100 : 625 :: 80 : ?
(A) 216 (B) 400

(C) 500 (D) 640

T 3 e T 914 R

64 | 80 |12

25 | 11 | 6

164 [ 125 | 2

(A) 17 (B) 18

(C) 18 (D) 15

siret # & i SreT Bifew (4, 16), (5, 30),
(6, 42), (7, 56) |

(A) (4,186) (B) (5,30)
(C) (6,42) (D) (7,56)

o oA § & 3% fadia s e 2, 97
ferfae |

(A) 5 (B) 2

(€ 1 (D) 6

AT (13+9) (14 + 11) » 13 =3 forw
+ % fore adt o5 ® wdt fevew g |
(A) +x+=+ B) —x—+

(C) x+—= (D) xx—=+

FAe A 58 dfon | 5 7N &1} S
I W foFm @ 2 9d B @ | Al T
#F1 A 1099 7, A FHA B A R ?
(A) 567 B) 4234
(C) 4099 (D) 3534

27. A B ,C D3REUEYEE A B3RC
gaﬁ'a@a%%;a,oaﬂte%ﬁa@aﬁ;
A BIREfFe@ad®; C, DINE
Bieh! Werd © | S hael Feaie AR gieh!
TAd & ?
(A) A (B) B
(C) D (D) C

28, Tr=faftaa spfoal # wwegar g = |
e ek o« [ 4 e D
wIM| &

©| W | © sHasid

29. Wfvea 9ad & @d ¥ 16 @efwal
gfeenirar & @ € | | & | RN
ety 2 fire R i & wds 5 =l F a1
5 fire =1 o7t o St @ | €9 I
F1 1 e goa o afe g8 wd @ &
ST foh Wedeh =0T % 911G 1 SAfaa g &
ST 7
(A) 47 fiFe (B) 45Tz
(C) 38fie (D) 40 e

30. fAe Hred 1 ufe T8 FEa g RS
? & “ar W foran & foran <t aielt =61 of
¥ 1ires arfae @ form v Tefta @ 7

(A) M=

(B) ¥§

(C) &g

(D) 37 =18 7
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31.

32.

33.

34,

35.

If LOTUS is coded as RTXXU, then
FLOWER is coded as

(A) LQSZGS
(B) MRTAHT
(C) MQTAHR
(D) LQSAGR

If HOTEL is coded as 12, then how
URVASI coded ?

(A) 14
(C) 11

How many triangles are there in the
figure ?

(A) 10
(C) 14

(B) 12
(D) 13

Identify by interchanging which 2 signs
(operations) the equation,

18 + 12 + 5 x 6 — 2 = 15 can be made
valid.

(A) +and -
(C) +and x

(B) xand -
(D) —and +

When 6 apples were distributed to each
member of a group, one apple was left.
When each one was given 7 apples, one
person did not get any. The number of
people in the group was

(A) 15 (B) 10
(C) 9 (D) 8

MKG-XIV/TECHPRT-II/1T/01

36. Select the word which is different
from the other three alternative words
among, {Miniature, Despair, Touched,
Disgusted}

(A) Despair

(B) Touched
(C) Miniature
(D) Disgusted

37. Find the number which comes next in

the sequence 2, 5, 14, 41, 122, ?

(A) 300 (B) 365

(C) 355 (D) 265
38. Ms. Priya walks 10 metres in front facing
the sun and goes 10 mts to the right.
Then every time turning to her left, she
walks 5, 15 and 15 mts respectively.
How far she is now from her starting

point ?
(A) 10 mt (B) 15mt
(C) 5mt (D) 20 mt

39. IfSun: Star::?:?? then find ?, 7.
(A) day and night
(B) bed and sleep
(C) dove and bird
(D) lamp and light

40. Which number replaces the question

mark ?

R, [ty § mlortle & 17
(A) 12 (B) 10
(C) 2 (D) 22



31. 3k LOTUS &1 %2 RTXXU 9t FLOWER

32.

33.

35.

1 e B |

(A) LQSZGS
(B) MRTAHT
(C) MQTAHR
(D) LQSAGR

afe HOTEL %1 %2 12 8, @ URVASI &
FIR?

(A) 14 (B) 13

(C) 11 (D) 15

o i forat By € 7

(A) 10 (B) 12

(C) 14 (D) 13

a8 T qfEda seenfre fom 2 faedi @

I 18 + 12+ 5x 6 -2 = 15! a9
s Es |

(A) + 3 - (B) x 3 -
(C) +3M x (D) — 3K+
sl U UHE % T% Heed i 6 s Wi

T 1 U B S T | S Yk il 7 A
fow o, & ue SRy = wes oft 7 firem |

TgE | ST we ot
(A) 15 (B) 10
(C) 9 (D) 8

36.

37.

38.

39.

40.
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{Miniature, Despair, Touched, Disgusted}
Y ¥ 98 ves BifeT St 2= i formnedl
CREC A

(A) Despair

(B) Touched

(C) Miniature

(D) Disgusted

T8 dE SR S FEen § sed an
2,5,14,41,122, 7

(A) 300 (B) 365

(C) 355 (D) 265

w2t forn g Y o7 g sk 10 Y. T
=Tl 8 3R 10 et Tt B | R s
SR 379 31¢ PSR a8 5, 15 3R 15 =it
ST Tl 8 | 98 9 TR g |
aneft foRaft qu @ 7

(A) 10 (B) 15H.
(C) 5. (D) 20,
AR AR 7 7277, 77 FE
(A) T 3R fe
(B) forem o7 ie
(C) e[ 3T u&h
(D) & 3R e
- T g o = gerdt 2 7

VNN

(A) 12
C) 2

(B) 10
(D) 22
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iii) Arithmetical and Numerical Ability

Ina survey of 1,000 consumers itis found
that 720 consumers liked product A and
450 liked product B. What is the least
number that must have liked both the

products ?

(A) 70

(B) 170

(C) 270

(D) None of these

If P (n): ‘49" + 16" + k' is divisible by 64
for neN, then the least value of k is
(A) O

(B) 63

(C) -1

(D) —10

A man saved Rs. 66,000 in 20 years. In
each succeeding year after the first year
he saved Rs. 200 more than what he
saved in the previous year. How much
did he save in first year ?

(A) Rs. 1,400

(B) Rs. 1,000

(C) Rs. 1,200

(D) None of these

44.

45.

46.

g9 18 12 .
HCFOf E! gn 'Zs' 1S

(A) 1%5

B) s

120

©) 350

(D) %so

The product of HCF and LCM of
2 numbers is 2186. If one number is 18,
find the other.

(A) 11
(B) 13
(C) 8
(D) 12

The traffic signal lights at three different
road crossings change after 48 sec.,
72 sec. and 108 sec. respectively.
If they all change simultaneously at
8 : 20 : 00 hours, then at what time will
they again change simultaneously ?
(A) 8:27:12 hours

(B) 8:30:00 hours

(C) 8:54:10 hours

(D) none of these
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iii) STERTTTOTENE U HEATeHeS qrgdl

1,000 SUSFATS] o Teh Ga&vr H g I
T o6 720 STTEAT A SETE il 96
€ 1450 B 3c91E ) TS A © | 98 AH
TG 1 & S H1 ScaIe] 5hi 68 & ¢
(A) 70
(B) 170
(C) 270

(D) ¥ A IS A

IfE P(n) : ‘49" + 16"+ k', neN % faiT 64
F faursw 2, @ k 1 =gHaH T

(A) O

(B) 63

C€) -1

(D) -10

U Hfad 20 981 H §. 66,000 =S |
Y shiveh 99 4 98 8. 200 A4 sEm
2 T 303 fuset od s o | s wem
N frea s=a i 7

(A) %. 1,400
(B) %. 1,000
(C) %. 1,200
(D) T & =iE T

=

45.

46.

9 18 12

18
35

Yas

120
350

%50

3l wEAradi & HCF 3 LCM &1 0H%d
216 | afd U T 187, AN g8 T H |
(A) 11
(B) 13
(C) 8
(D) 12

(B)
(©)

(D)

@ = wes H1fEm W FarE w@a
1 it FA: 48 TFE, 72 AHS AN
108 The & MU Teerdi 2 | IR ITE T
Y 8 : 20 : 00 He T FEwrd! &, o Uk Ty
9 q: Fd ageri ¢
(A) 8:27:12%
(B) 8:30:00%
(C) 8:54: 10
(D) 9 & i3 Tl



47.

48.

49.

50.

(33 )2 _3(32} .

Value of (30)2 3@ is

(A) 1

(B) ‘1%x36
(C) 3¢

33

(B) ==

If o, B are the roots of the equation
2x2 — x + 1 = 0, then the value of
ad+pS=

T
7z
Z

none of these

(A)
(B)

(©)
(D)

A 2 digit number contains the smaller of
two digits in the unit's place. The product
is 40 and the difference between the
digits is 3. Find the number.

(A) 58 (B) 85
(C) 25 (D) 52

Three years ago, father was 4 times as
old as his son and after 5 years he will
be 3 times as old as his son. Find the
present age of son.

(A) 18 years
(C) 17 years

(B) 20 years
(D) 19 years

-12-

51.

52.

93.
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A sum of money doubles itself in
12 years, 6 months at a certain rate of
simple interest. In how many years will
it triple itself ?

(A) 30 yrs.
(B) 25yrs.
(C) 29.5 yrs.

(D) none of these

A farmer walks from village A to village B
at a speed of 10 kmph and returned
back at the speed of 15 kmph. Find the

average speed of his entire journey.
(A) 12.5 kmph

(B) 13 kmph

(C) 12 kmph

(D) none of these

A batsman finds that by scoring a
century in the 11" innings of his test
matches, he has bettered his average of
the previous 10 innings by 5 runs. What
is his average after the 11 innings ?
(A) 45 runs

(B) 50 runs

(C) 48 runs

(D) none of these



47.

48.

49.

50.

(33)2 A4 3[3‘2)
(30)2 vl 3(20) m HH %

(A) 1
(B) —1%x36
(C) 3°

35

) ==

M o, B, 2x2 — x + 1 = O THIHT & T
g, Mad+p3wmam 2

® =5/
® %

© %
(D) ¥ & 1S TE

13 31 371 Y G H B! T T T
TR | UFHS 40 B IR 371 % sl 7
3% | HEI I R |
(A) 58
(C) 25

(B) 85
(D) 52

3oy gd, a1 g3 & 4 7om w1 3 31k 5 9
S8 93§ 370N 918 B | 99 ) Fdw 3y
T A |

(A) 18ad
(C) 1794

(B) 2094
(D) 1998

-13-
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T AU 12 99 6 TR B |1 S
T i AT L Al ¢ | Foha 9t d
T8 W I AT R S ?

(A) 3098

(B) 2599

(C) 29.5a9

(D) T =S T

e fEH 10 fhfl, sfa s finfa ava A
9 Tig B 97a 8 3t 15 B wfy g h
T @ AT ST & | A A ofe i
A |

(A) 12.5 5.t ufd wer

(B) 13 Ter.Ht. ufa wer

(C) 12T, ufa ge

(D) T & g T

T sectars Tl & 6 e il § 11
Ol 8 T Ik T @ 3HeHT 10 qTRET
Hted 51 8 dgat & Srar 2 | 11 &ff o
% 1 IR ST FTE 7

(A) 457

(B) 50T

(C) 48

(D) F78 & =S e
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54.

55.

56.

57.

The sales of a company was Rs. 35,000
in June and Rs. 30,000 in July. Find the
percentage decrease.

(A) 15%

(B) 14.29 %

(C) 10%

(D) none of these

The rate of a movie ticket was Rs. 150.
This was reduced by 20 %. Due to the
discount in price the revenue increased
by 20%. What was the percentage
increase in the number of viewers ?

(A) 50 %
(B) 30%
(C) 20%

(D) none of these

Find the cost price of an article which is
sold for Rs. 220 at a loss of 12 %.

(A) Rs. 200 (B) Rs. 310
(C) Rs. 250 (D) Rs. 225

A can do a piece of work in 12 days, B
in 15 days and C in 18 days. All began
to work together. A leaves after 2 days
and B leaves 3 days before the work
was finished. How long did the work last ?

(A) 9%, days
®) %1 days
(C) 9days

(D) none of these

-14-
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Walking at4 kmph, a student reaches his
college 5 minutes late and if he walks at
5 kmph, he reaches 2%z minutes early.
What is the distance from his house to

college ?
(A) 3km
(B) 2.5 km
(C) 5km

(D) none of these

How much of a low quality tea at Rs. 9
per kg must be mixed with 100 kgs of
superior tea at Rs. 13.50 per kg, to give

an average of Rs. 11 per kg ?
(A) 100 kg
(B) 120 kg
(C) 125kg

(D) none of these

If 10 persons working 7 hours daily can
build 8 water tanks in 5 days, how many
days will 12 persons working 6 hours
daily take to build 36 water tanks ?

(A) 21.875 days
(B) 22.56 days
(C) 20.95 days

(D) none of these
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& HUAT T S A TR €. 35,000 3R
SeTs # . 30,000 oft | whiera firree 1@
H |

(A) 15%

(B) 14.29 %

(C) 10%

(D) 37 | IS L

e fohem i Rere i st ®. 150 ot 13820 %
TR T | e W e o R TS 20 %
9 1 | 3@ J S g 1 v 3hg
1 off 7

(A) 50 %

(B) 30%

(C) 20%

(D) ¥ & S A&

3G T H T o d T4 RS 12 %
T E. 220 F o= S 2 |

(A) . 200 (B) %. 310
(C) % 250 (D) %. 225

ATE FE H 12 e # = awhar |
BisfAi A s aFare R C 18I A
a1 © | T+t U W1 S BT E FA
T I A &A1 o o1 2ar ® ek B i &=t
TE BIS a1 &, THY Tee Toh 1 HHTw o |

9 S e THI BT 7
A %% fa

®) 5%

() 9fem

(D) ¥ & FIg 7
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4 T 1. wfa oo were o formeff oA
i 5 fFe 3 F ug=a 2, If 9
5 3., ufa eraear g, a1 21 e el
UEAI € | 36 B A hiekst ol gl g ?
(A) 3fwH.

(B) 2.5 ..

(C) 5f%.

(D) 38 & &g 7

T Hfedn urEw i %, 9 ufd .. areh
I # %, 13,50 ufd .. et A=t
o 100 fa6. 701, = % | feeg wen
% firemn sime f oftea %. 11 wfa f6.am.
iy ?

(A) 100 ..

(B) 120 f&h.am.

(C) 125 f&w.mm.

(D) 3 & 1S TE

Ife 10 ==fF 7 92 U9 = & 5 fai
% 8 Ut % 5 o1 Tk & | fohem ol A
6 12 st 1 Flah 12 A 36 T o &
AT ?

(A) 21.875 feA

(B) 22.56 &

(C) 20.95 fem

(D) ¥ & =IS 7
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iv) Hindi Language and Comprehension

et v si e
TR AT T ool v wihar | 68 $H ¥ FHiE1 I ‘HUYTR ¥15e 1 Wb
& ? & 7
(A afea (8) fre (A) T &or s H T2 R S A 8
C) <ifief IR (B) &t
= e (C) U &ur # S 9 &
TR’ Tse 1 fret vree # (D) ¥R
(A) ﬁﬁw (8 =5 69. ‘Faet MR H AL B
(C) ™R (D) < (A) STFR H! 9 AT
‘ohel i3 ST AT 39 919 § YA 8 (8) Wﬁqﬂ_ﬁ;ﬂ“
(A) T B) 1 Eg; zg?g e é"
(C) mm (D) o
70. ‘U BT ?
‘e e w=3 WeEd @ 98 a1 (A)ﬁqﬁmm
form 1 SeRm R | (B) e @
(A) 3T (C) &= = four 7w
(B) T (D) Torespar a7=e1 7 @A
(C) Tewiw ,
. 71. ¥ GEEU Fl b AT & AT AGH
(D) ¥ & =hIg el ferfiam |
: ‘o ¥
2)*;‘:*“'“‘“1) " a zuFGT 1. s
FAT

(C) W= (D) wrEH b. WS WIS 2. W& WieHl

c. SIS HE 3. TgwaEH

3 Y 1 I1ee FT I o fadm @ ¢

(A) THT (B) vad
(C) %H (D) Frpare
‘qY 761 T TR

(A) 99 (B) s&
(C) ag (D) =g
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d. B WEE 4. W9E EHR
SHHT A

a b c¢c d
A 3 2 1 4
B 3 2 4 1
C) 4 2 3 1
D) 1 2 4 3
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faret wresi 1 sirge foaflm |
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a. faem 1. g1

b. & 2. d&q

c. fafy 3. 9ad

d. 3eaH 4. g
a, by esd

A) 2 4 3 1

B 1 2 4 3

€ 2 1 4 3

D 4 3 1 2

SIP : SHURA : : <TAT =

(A) ST (B) wfer

(C) wTer (D) et

U G : TH A ;: GH AW eH

(A) T

(B) =m

(C) wmd

(D) ¥ @ I3 e

19 1 2 HH g TR | 3 A i
e

(A) <™
(C) =rEe

(B) T
(D) s

TIGTT:IFﬁ::BTET:___
(A) §&S

(B) =mq

(C) frsit

(D) 7 @ g e
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TRl $B HraA1 =ifee o1 | 39 9§
[ERUENEL

B

(A) % (B) Er=l
(C) = (D)
St ferfa |

o’ -
a. ¥ 1. Hugm
b. SAIMFE 2. THY SACIR
c. MASqwE 3. 9' AR

a b c
(A) 3 2 1
B 2 3 1
€ 1 2 3
D) 2 1 3
H STt § 98 S FAFE |
(A) =HH (B) ¥
(C) wfesTa (D) T & HIS TN
Frefafas ool = aus v&l & @y
ST |

o -
a. IFAE 1. WA
b. e 2. guieH
c. T au™ 3. Y=9adt
d. 55 99M 4, TEEE
e. SgIfE wHE 5. A9

a b c d e
(A) 1 2 3 4 5
B 2 3 1 4 5
€ 5 4 3 2 1
D 3 2 4 1 5

II.
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v) English Language and Comprehension

SIS e SR Ay

Find the meanings of the given idioms.

81. Weal and woe
(A) Now and again
(B) Joy and sorrow
(C) Useful and harmful
(D) Plus and minus points

82. Round peg in a square hob
(A) Untrustworthy
(B) Invalid
(C) In an unpleasant situation
(D) A misfit

Choose the appropriate tenses.

83. | hope you will have washed your face
and hands before you come to the
dinner table.

(A) Simple future tense
(B) Future perfect tense
(C) Past perfect tense
(D) Future continuous tense

84. | have been working for two hours.
(A) Present perfect continuous tense
(B) Present perfect tense
(C) Present continuous tense
(D) Simple present tense

Find the wrongly spelt word from the given
words.

85. (A) Flippancy
(B) Chicanary
(C) Besmirch
(D) Aberration

86. (A) Acerbity
(B) Cadaverous
(C) Garrulous
(D) Heterogenous

Select the appropriate figure of speech.

87. England won the first test match against
Australia.

(A) Synecdoche
(B) Litotes
(C) Simile
(D) Irony

88. The pen is mightier than the sword.
(A) Pun
(B) Hyperbole
(C) Metonymy
(D) Epigram

Identify the given sentences as simple,
compound, complex, positive or negative
sentences.

89. In spite of his hard work, he failed the
exam.

(A) Compound
(B) Simple
(C) Negative
(D) Complex

90. |stood up so that | could see the game
clearly.

(A) Complex
(B) Positive
(C) Simple
(D) Compound
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Choose the correct words from the options
given below.

91. Before mining the cake, weigh
ingredients precisely.

(A) All
(B) Most
(C) Each
(D) Whole
92. We will have to work quickly because |
haven’t got time.
(A) Any (B) Lots of
(C) Some (D) Much

Replace the underlined verbs with the correct
options given.

93. | am sure we will all remember this

holiday with great pleasure.
(A) think over

(B) look back on

(C) stand up for

(D) goin for

94. Unless you confess, we shall all be
punished.

(A) put up with
(B) find out
(C) own up
(D) carry on

Choose the correct opposites of the given
words.

95. Bucolic
(A) Reserved
(B) Rustic
(C) Cheerful
(D) Urbane

MKG-XIV/TECHPRT-III/1T/01

96. Temerity
(A) Low or dice
(B) Unscholarly
(C) Frank
(D) Philanthropic

Select the appropriate clause for the given
sentences.

97. There was nothing he would not do if
only he might make profit.

(A) Adjective clause
(B) Adverb clause
(C) Noun clause
(D) Relative clause

98. They never fail who die in a great cause.
(A) Adijective clause
(B) Relative clause
(C) Adverb clause
(D) Noun clause

Select the correct pronoun for the underlined
word.

99. The principal himself spoke to me.
(A) Reflexive pronoun
(B) Emphasising pronoun
(C) Demonstrative pronoun
(D) Possessive pronoun

100. The boy who stole your pen has been

punished.

(A) Distributive pronoun
(B) Demonstrative pronoun
(C) Relative pronoun

(D) Possessive pronoun

-19-
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SECTION - B
Post Specific Subject — Related Questions

Growth in a child refers to which of the

following ?

(A) Behavioral changes alone
(B) Structural changes alone
(C) Physiologic changes alone
(D) Both (B) and (C)

Growth is in terms of

change in weight, height and size.
(A) Limited to childhood
(B) Until 35 years of age
(C) Until 60 years of age

(D) Ceaseless

Changes in a child that bring qualitative
changes in function or character are

(A) Physiological
(B) Physical
(C) Developmental

(D) Cultural

Which of these terms specifically mean
after birth ?

(A) Prenatal
(B) Postnatal
(C) Antenatal
(D) Perinatal

105.

106.

107.

108.

The direction of development in a child
along the longitudinal axis is called

(A) Cephalo-caudal
(B) Caudo-cephalic
(C) Lateral
(D) Distal

Which part of the body does the child
first gain control over ?

(A) Rightarm
(B) Leftarm
(C) Head
(D) Legs

Which of these statements is true ?
(A)
(B)

Boys mature earlier than girls.

Both boys and girls mature during
a similar age.

(€)
(D)

Girls mature earlier than boys.

Boys become adolescents earlier
than girls.

Which of these teaching methods is
considered traditional ?

(A) Chalk and talk

(B) Distance education
(C) Cooperative learmning
(D) Activity-based leaming
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qrT - |
o wfufes fawa - gad uw

& 9as ¥ gt Fefafea 3 @ feew
gefifa d ?

(A) Fad AT Ui

(B) @famm ufEady Faw

(C) Faa i gfEda

(D) (B) 3R (C) qHi

R, g 3R TR & dedl # gfyg
(A) WegehTd 9 difd 8

(B) 3534 I 3TYAS ?

(C) 60 Td Y ARTH 2

(D) 3rEifha

T e # giEd s 1 91 |9fE 8
TETeH IiEd &rd & g

(A) iR

(B) ifas

(C) fawmar=s

(D) wreHfh

T B Fa yee = 31 fafirea s e
27

(A) g

(B) ST 9v=TE

(C) wEag

(D) oS

105.

106.

107.

108.
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Serad g{ o F1Y—H1Y T ATeleh hl [T
&1 fewm FEAT @ |

(A) Rthen-shiea

(B) HigI-Tithiereh

(C) wrfesier

(D)

R % f5F a7 W A 1 g9l e
e dme ?

(A) T8 =T

(B) g TS,

() fm

(D) 2

FHAPA-GIFIA IS 7
(A) T Fefrdl A ygel qiaas et & |

(B) =g 3N wreferai a1 vk gHE 3y
% I g B1a # |

(C) Tl Trewi & veel fuaa Bt £ |
(D) wTe wefral ¥ vt freit 1 s & |
8 8 wH -t e Gt wokes
STt 2

(A) e 3R =G FHET

(B) T4 e

(C) Gl 38T+

(D) wfafafer-sneanfa
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State which of the following are true ?

(A) The child gains control of his/her
feet first before head.

(B) General ability precedes specific
ability in all phases of a child’s
development.

(C) There is a sudden spurt of
development in the last stages of
life.

(D)

The child controls fingers first and
then the arms.

Which of these is an internal factor
influencing growth and development ?
(A) Environment in the womb of the
mother

(B)

Quality of nutrition received by the
embryo

(©)
(D)

Heredity

Environment available after birth

Which of these is/are an advantage/s
of activity-based learning ?

(A)
(B)

Clarifies abstract concepts

Provides opportunities to apply
multiple senses

(C) Integrates multiple-teaching
learning methods

(D) All of the above

112

113.

114,

115.
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Which of these emphasise learning
through teamwork ?

(A) Continuous learning
(B) Cooperative learning
(C) Classroom lecture
(D) Chalk and talk

Creating common identity for the group
with an attitude towards helping is the
hallmark of

(A) Individual accountability
(B) Equal status interaction
(C) Individual learning

(D) Positive interdependence

Which of this/these are leaming styles

classifications ?

(A) Left and right brain thinkers

(B) Visual and kinaesthetic learners

(C) Activists, reflectors, theorists and
pragmatists

(D) All of the above

In small group teaching, the teacher

can organise children into

groups to enable discussions.
(A) 4-6

(B) 10-12

(C) 14-16

(D) 16—18
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frefafea i a fa-mam e ?
(A) ===1 A 90 W i ¥ vee e
T LT 2 |

(B) TMT= I gal ¥ Yeod STAsh o fashmd
it geft graEenati # fafime a8
UEA AT R |

(C) sfraa & Afam =i ° faswma &1
=T THT BT 2 |

(D) === UEa Hferdl i Faf #aT ®
R iR sy =t i s 2

T | BT T ATARS HI Ihg AN
forpr =t wTfea seaT @ 7

(A) 9 6 s | Frare

(B) YU G 1o 919wy 2hi TOrE

(C) STRTeHer

(D) SiEH % =18 IUcTeY YHIa0T

wfcfafey smenfia stesem @15 @ FH-T

1

(A) HR GheU13] i TI2 Al 2

(B) g HagI3T oh STIYFI ST ITcTedl
EGIN

(C) wg-TRamwr sreae faferi s wehrator

(D) 35 ot
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=Y 8§ HH-91 S F 91599 8 HiE |
SR ?

(A) e sregmm
(B) HEhII 37U
(C) =&l ST
(D) =ieh 3R A

THE o [Tt IFATS Yg=H ST 7S
fore ua wafa wam 1 BT
2|

(A) SafFs sweEfta
(B) "9 feufa sm=nfaan
(C) afads A=

(D) EERTICHeh Al

0 § S -T1 e el i 2 ?

(A) 9T 3R gl AieTs fo=mes

(B) 3¥F 3R TicsTiat S1eda sy

(C) Frwal, Wiades, g it
EICHIICS

(D) 3 |sfi

Y Te Rrgor 4, fas =i
% =1 Y& H o o0 T § @fed
FHATR |

(A) 4-6

(B) 10-12

(C) 14-16

(D) 1618
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An experiment usually helps to establish
a relationship.

(A) Teacher-learner
(B) Cause-effect
(C) Learner-learner
(D) Affect-based

Which of these refers to preparing a
sequence of action steps to achieve
some specific goal ?

(A) Determination

(B) Termination

(C) Motivating

(D) Planning

means something that can
be used to help achieve an aim.

(A) Replacement
(B) Resource
(C) Source

(D) Foundation

Which of these is an educational
institutional resource ?

(A) Community
(B) Village
(C) University
(D) Town

education is seen as
a tedious and complex process.

(A) Outdoor-based
(B) Indoor-based
(C) Lectures
(D) Didactic

121.

122.

123.

124,
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Which of these statements aptly
describe education ?

(A) ltis a lifelong process.

(B) Itis a continuous process.
(C) Itis free from rigidity.

(D) All of the above

As described by the bi-polar process
of education, there are two poles
influencing each other according to
Sir John Adam. They include the
educator and the educand. Who among
these represent the two poles ?

(A) Teacher-student
(B) Teacher-parent
(C) Parent-student
(D) Student-teacher

The third arm in the tri-polar process of
education adds another dimension to
the bi-polar process and is represented
by which of the following ?

(A) Parents

(B) Teachers
(C) Recreation
(D) Curriculum

The process of education arranged in a
precise or regular way that is curriculum
bound and examination ‘oriented is also
described as

(A) Informal education
(B) Non-formal education
(C) Formal education
(D) Distance education
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Teh YT ETH=IG: Ueh Hay TTiUar
A GEEd T |

(A) Torerer-1ean
(B) HRUI-HTE

(C) -l
(D) AT -

0 8 -1 15 (AT A& T A |
?w%@mﬁmm%dﬁ
(A) wfcsrsan

(B) 3d

(C) Uftan =T

(D) IS

1 379 B UH1 T 1 T 84 hl
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|
(A) SfaeamoE
(B) gHEIEA
(C) Hrd
(D)

T B -1 U SR T HanH # 7
(A) Y

(B) T

(C) favafaeme™

(D) sl

T v e s Sifea ufsn
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(A) TRI TETRd
(B) Aateel muTia
(C) ==

(D) ifows
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T Y -1 FYE 39gE €9 ° e
T HAT B 7

(A) T8 U Sfigada ufsran & |

(B) ¥8 w Rt ufsrn 2 |

(C) I wieanfed & g 2 |

(D) 3ad &+t

star f fran 0 et wfsan g
ST 7, T S TeH & AR a1 g4
T S TH-ga &I I L | | A e
A i e E | FHaFR-a
3 gai ! i @ ?

(A) Treaes-formef

(B) fRrerer-sifirsraeh

(C) frargs-faenefi

(D) feremefi-frers

Py fren w4 diad g Ggd
o H o R Sig dan @ sl am v &
FH-TTR ?

(A) wTar-fan

(B) Tz

(C) grtamT

(D) = HEA

s g 1 i ot 8 safea e
& whsrar st 1eaga g 3w afta 7 i
wiefia B % w9 A sATEATtia e
2

(A) =T e
(B) T—afg=nfes e
(C) =i fren
(D) T foan
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An organized and systematic learning
activity that takes place outside the
formal system is known as

(A) Informal education
(B) Uniform education
(C) Formal education

(D) Non-formal education

The type of education that is not
consciously planned without a fixed
curriculum or method of teaching is

(A) Non-formal
(B) Informal
(C) Fixed

(D) Formal

Which of the following influential thinkers
divided the aim of education into two
main types-Immediate and ultimate
aims ?

(A) John Dewey

(B) Rabindranatha Tagore

(C) Maria Montessori

(D) Mahatma Gandhi

The modern Indian State is a/an
State.

(A) Autocratic

(B) Theocratic

(C) Welfare

(D) Underdeveloped

129.

130.

131.

132.
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On the basis of the recommendation
of commission, the
first National Policy on Education was
formulated by Government of India in
1968.

(A) Kothari
(B) Yashpal
(C) Frobel
(D) Tagore

Which of these is NOT one of the four
pillars of education highlighted by
Delores Commission ?

(A) Learning to be
(B) To have
(C) To know
(D) To live together

Linguists generally look at language as
a pairing of and

(A) grammar and dictionary

(B) speaking and learning

(C) teaching and learning

(D) educere and educatum

Atwhich age is a child able to develop a
language that matches the correctness
principles of the appropriate words and
grammar of a given language ?

(A) 2years
(B) 4 years
(C) 6 years
(D) 8years
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U Grifed 3 yonefia stereE nfafafish
afro=tss gorTet & STet Bl |, i
FEATd 2 |

(A) =T e
(B) TwEY firem

(C) fru=nites e
(D) T-afv=is e

T31eq 1 YR ST SaAgES SIS Bl
2 3t v Fifvea e gt an g i
fafr & o 2

(A) T-3fv=ries
(B) =TGR
(C) ffera

(D) sfg=nf

Freafafiea 3 @ e gareh farames 3 fran
% T& 1 1 Y YRR — i 3R sifem
e o e B ?

NEEES]

(B) Tazg &R

(C) W Higwd

(D) wETeHT Tieft

MYfFF TR T T TSR |
(A) frgw

(B) awmfEa

(C) oAU

(D) reafaerfad

129.

130.

131.

132.

-27-

MKG-XIV/TECHPRT-III/1T/01

A GEfd % SAER W,
Torem ot veet usdi Hifa 1968 # wrE
TTHR Z 18 7 |

(A) IS

(B) I

(C) wee

(D) &M

T @ -9 S I S g T
e F IR i AT IE 2 7

(A) T FHE
(B) 9T AT
(C) S

(D) =g i

TeTfag A TR 3R
FTHTTHEIH GG ¢ |
(A) ST 3TN 3758 HINT

(B) e 3R JER—H

(C) Tirequr 3w areem

(D) THRRR 3T TgHen

ora 3y o s wrers U s et
7 HeFH BT 2 S U WINT % I9Ge Weal
3R A F TE fagial = P s ?

(A) 299
(B) 494
(C) 63
(D) 898
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In the Brahmanic society,

was used as the standard language.
(A) Hindi

(B) Hindustani

(C) Sanskrit

(D) Pali

A third of the 5000 languages spoken
around the world is found in

(A) Brazil
(B) India

(C) Russia
(D) China

Which of these languages belong to the
Dravidian language family ?

(A) Kannada
(B) Hindi
(C) Oriya
(D) Manipuri

How many language families exist in
India ?

(A) Two
(B) Three
(C) Four
(D) Five

137.

138.

139.
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Hindi written in script is the
official language of India.

(A) Pali

(B) Sanskrit

(C) Dogri

(D) Devanagari

Which of these is an integral part of the
Indian linguistic heritage ?

(A) Monolinguality

(B) Bilinguality

(C) Trilinguality

(D) Multilinguality

Damage to this area in the brain causes

problems in speech production
(A) Frontal cortex

(B) Occipital cortex

(C) Broca’s area

(D) Wernicke's area

When does babbling appear in a child ?
(A) 3 months

(B) 6 months

(C) 9 months

(D) 12 months
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Piaget proposed that a child’s thinking
begins with two processes: perception
and

(A) Proprioception
(B) Belief system
(C) Intelligence
(D) Representation

Modifying the existing structure to
interpret the object, event or process
was described by Piaget as which of
the following ?

(A) Assumption
(B) Accommodation
(C) Adoption

(D) Assimilation

Which of these is the first stage of
cognitive development ?

(A) Formal operation
(B) Concrete operation
(C) Sensory-motor

(D) Pre-operation

Which of these is considered the first step
in introducing number concepts ?

(A) Addition
(B) Subtraction
(C) Counting
(D) Multiplication

145,

146.

147.
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Instant recognition of a number pattern
without counting is known as

(A) Subitizing
(B) Assimilation
(C) Deduction
(D) Ordering

Inferring particular cases from general

rule is type of reasoning.
(A) Induction

(B) Deduction

(C) Processing

(D) Capacitation

When one is aware of his/her ways of

thinking or learning, it is known as

(A) Adaptation

(B) Accommodation

(C) Meta-cognition

(D) Representation

Transitivity of numbers, length, mass

and weight take place during which
period ?

- (A) Sensory-motor

(B) Pre-operation
(C) Concrete operation

(D) Formal operation
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Mathematics is accepted as a branch
of

(A) Logic
(B) Arithmetic
(C) Analysis
(D) Algebra

Students are engaged in the classroom
through different learning tasks. This
phase is known as

(A) Engagement phase
(B) Exploration phase
(C) Explanation phase
(D) Evaluation phase

Which language is accorded the status
of associate official language at the
national level in India ?

(A) Hindi

(B) Sanskrit

(C) English

(D) Pali

The National Curriculum Framework
(2005) emphasises which of the
following ?

(A) The use of the child’s mother
tongue as a medium of learning at
the primary level.

Every child has the right to

guaranteed quality elementary
education.

(B)

(C) Special provisions were provided

for disadvantaged groups.
(D)

Free and compulsory education to
children of 6 — 14 years age.

153.

154.

1565.
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Which of these appropriately describes
second language ?

(A) Language that is primarily spoken
at home

(B) Language studied in the school in
addition to the language spoken at
home

(C) Language that is used by non-

native persons

(D) All of the above

By the time the child has completed

class I, what is expected of him/her ?

(A) Ability to read sentences consisting
of 5 — 6 words.

(B) Child should be able to pronounce
complex words made of 10 — 15
letters.

(C) The child still babbles and does
not speak in complete meaningful
sentences.

(D) The child is not expected at this

stage to understand the relationship

of one sentence to another.

With regard to teaching, which of the
following terms is philosophical in
nature ?

(A) Method

(B) Procedure
(C) Technique
(D) Approach
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Which of these relate to classroom
activity ?

(A) Principles

(B) Methods

(C) Philosophy

(D) Techniques

Cooperative language leaming is also

known as

(A) Choice-based learning
(B) Collaborative learning

(C) Content-based learning

(D) Conditioned learning

Cooperative language learning is

marked by which of the following ?
(A)
(B)

It is learner-centric

It is ineffective for language
acquisition

(C) It does not use interactional
method

(D) None of the above

Which of these is a receptive skill ?
(A) Listening

(B) Speaking

(C) Writing

(D) Producing words

160.

161.

162.

163.
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Which of these terms refers to having
the ability to understand two languages,
but being able to express oneself
through one language ?

(A) Consecutive bilingualism
(B) Successive bilingualism
(C) Receptive bilingualism

(D) Simultaneous bilingualism

Which of these is a planned performance
of an occupational skill, scientific
principle or an experiment ?

(A) Jigsaw method
(B) Problem solving
(C) Synthetic method

(D) Demonstration

Which form of pedagogy moves from
known to unknown or from concrete to
abstract ?

(A) Analytic method
(B) Synthetic method
(C) Laboratory method
(D) Jigsaw method

Which one of these is the best ways to
be a good communicator ?

(A) Writing

(B) Listening

(C) Nonverbal communication
(D) Speaking
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In which of these classrooms does the
teacher play the role of ‘the prompter’ ?

(A) The teacher is in complete charge

of the class.

(B) Teachers helps the students only

when necessary.
(C) The teacher takes part in every
step of the classroom activity with

the students.

(D)

The teacher coaches students in

project work or self-study.

Paying close attention to what the
other person is saying, asking clarifying
questions and rephrasing what the
person says to ensure understanding

refer to

(A) Active listening
(B) Passive listening
(C) Poor communicator

(D) Non-verbal listener

Which of these is/are non-verbal signals ?
(A) Tone of voice

(B) Good communication

(C) Asking questions

(D) Answering in class

167.

168.

169.

170.
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Questions that start with ‘did’ or ‘do’ are
type of questions.

(A) Open
(B) Specific
(C) Closed
(D) Visionary

A statement such as ‘| understand
where you are coming from, reflects
which of the following ?

(A) Confidence
(B) Friendliness
(C) Nonverbal communication

(D) Empathy

In communication, under which part of
the process does ‘expressing the words'
fall ?

(A) Sender
(B) Message
(C) Channel

(D) Receiver

‘Hearing’ and ‘seeing’ are components
of which part of the process of
communication ?

(A) Source
(B) Sender
(C) Receiver
(D) Media
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Which of these is not a technique in
teaching grammar ?

(A) Diagramming sentences
(B) Meaning of vocabulary
(C) Interactive teaching

(D) Deductive teaching

The philosophical teaching model known
as the Insight model was proposed by
which of the following thinkers ?

(A) John Locke
(B) Kant
(C) Daniel Davis
(D) Plato

Which of these modern teaching model
families were proposed by Bruce R.
Joyce ?

(A) Information processing models
(B) Personal models

(C) Social interaction models

(D) All of the above

In the modern approach of learning,
students are given the freedom to leam
at their own pace which is known as

(A) Active learning
(B) Adaptive learning
(C) Collaborative learing

(D) Invitational environment

175.

176.

177.

178.
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This method of teaching of grammé;r

focuses on instruction before practice
(A) Deductive method

(B) Inductive method

(C) Interactive teaching

(D) Diagramming sentences

The curriculum is best described as
(A) An attempt to achieve certain goals

for students
(B)
(C)

Teachers evaluating the process

A body of knowledge that is to be
transacted

(D) All of the above

Which of these describes the syllabus ?
(A) Outline of the course

(B) Product

(C) All the courses offered

(D) Process

The complete set of taught material in

the school system is also known as
(A) Course outline

(B) Syllabus

(C) Product

(D) Curriculum
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A group of related, interacting parts that
together form an interdependent whole
is a/an

(A) Effect
(B) System
(C) Cause
(D) Model

A is a physical object
which represents another thing.

(A) Organization

(B) System

(C) Structure

(D) Model

‘Stating learning outcomes’ falls under
which part of pedagogical analysis ?
(A) Interactive stage

(B) Pre-active stage

(C) Evaluative stage

(D) Feedback stage

Which of these is not a part of the
‘interactive stage’ of pedagogical
analysis ?

(A)
(B)

Giving feedback

Deciding approaches of stimulus
presentation

(C) Deciding on expected learners’
responses

(D) Determining tools for achievement

of learning outcomes

183.

184.

185.

186.
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With regard to lesson planning, a/an
is a statement of purpose for
the whole lesson.

(A) Outline
(B) Instructional method
(C) Objective

(D) Organized support material

The most important part that comes after
the deployment of the lesson on the part
of the teacher on what worked and what
needs improvement is known as

(A) Sequencing
(B) Reflection
(C) Evaluation

(D) Assessment

Higher levels of retention can be achieved
through involvement in
learning.

(A) Active
(B) Passive
(C) Verbal instruction

(D) Verbal receiving

A shows simulated
movements of stars, planets and other
celestial objects.

(A) Planetarium
(B) Herbarium
(C) Vivarium

(D) Paludarium
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188.

189.

190.

Which of these describes an enclosed
area for keeping and raising animals or

plants for observation or research ?
(A) Insectarium

(B) Paludarium

(C) Terrarium

(D) All of the above

Science Parks are places meant for
(A) Scientific research

(B) Leisure activities

(C) Interactive exhibits

(D) Both Band C

Visual representation of numerical data

is done through which of the following ?
(A) Maps

(B) Periodicals

(C) Flip chart

(D) Graphs

are models used

to explain the process involved.
(A) Working models

(B) Replica models

(C) Specimens

(D) Photographs

191.

192.

193.
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Which of these statements is true ?
(A)
(B)

Gender parity is measureable.
Gender equality is easier to
measure than gender parity.

(C) Gender parity is a wider concept
that includes gender equality.

(D) Gender equality only means
equal numbers of boys and girls

accessing education.

The process of being fair to women and
men is also termed

(A) Gender equity
(B) Gender sensitivity
(C) Gender awareness

(D) Gender equality

Which of these statements describe the

concept of ‘gender roles’ ?

(A) The social roles and responsibilities
that are considered appropriate for

men and women in a culture,
(B) The absence of discrimination on
the basis of a person’s sex.
(C)

(D)

Contrasts with gender blindness.

Numerical concept concerned with
the relative equality in terms of
numbers.
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I HEATTHE Hehed T |



fie

194.

195.

196.

197.

Which of these describes the concept of
'sex’ appropriately ?

(A)
(B)
(C)

Social not a natural difference
Refers to cultural expectations

Refers to physiological
characteristics

(D) They differ in different societies

Which of these are examples of sexual
harassment ?

(A) Verbal comments
(B) Non-verbal actions
(C) Unwanted requests
(D) All of the above

Learning that goes on all the time,
resulting from daily life activities related
to work, family, community or leisure is
known as

(A) Informal education
(B) Formal education
(C) Distance education

(D) Non-formal education

is a social system in
which males hold primary power and
predominate in various societal roles.

(A) Matriarchy
(B) Patriarchy
(C) Matrilineal
(D) Polyarchy
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200.
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The practice of selective elimination
of the female foetus after prenatal sex
determination or sex pre-selection thus,
avoiding the birth of a girl child is known

as

(A) Female foeticide
(B) Female infanticide
(C) Son preference

(D) Son mania

Which State in India has the highest sex

ratio ?

(A) Daman and Diu
(B) Puducherry
(C) Kerala

(D) Karnataka

Which Article in the Indian Constitution
prohibits discrimination on the basis of

sex ?

(A) Article 15 (1)
(B) Article 14
(C) Article 16
(D) Article 15 (3)
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197.

T A a1 T ) oo i 3ugF
&9 A aftfq s 2 ?

(A) T 7 T3 Uk wiehfosr TR

(B) Wihfdh 21u&nTl | Hahd

(C) wiifer Seqon | Hefila

(D) fTarfys warsii o e Bt &

3 - e geiaer & 3T ¢ ?
(A) wfaes fofirt

(B) M- framd

(C) Imifesa Frgly

(D) I gt

HA SN TR A €, N FH, AR,
ST 91 Wiedl 959 § Haioa afeh sfiad
Tiafafer & ufom S e, 3@
FEAT 2 |

(A) =T fen

(B) o=t fnam

(C) et e

(D) r-3fr=nfe fren

T WTHTISTER JTTel & e ges
% g ot wfe & i et amnfoms
uftrerrad # yeet wan ? |

(A) HIgETHS

(B) forgeriresreh

(C) et

(D) FgERITH
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& gd fem fafor a1 fom gd wga # =
T U1 < G 21 A ol 1A, Uh el
& S | =T FEA ¢ |
(A) T {1 &

(8) = Ry

(C) o sHera

(D) T3

T % e T o1 o ma waifae @ 7
(A) THH 3 EE

(B) T

(C) &

(D) wAleH

R SR 1 S sreee R &
YR W 5= i Sfqaiea sar e ?

(A) ¥F=aT 15 (1)

(B) I3 14

(C) ¥F=ae 16

(D) 37F=aT 15 (3)
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IMPORTANT INSTRUCTIONS TO CANDIDATES

SrEERi @ o wewargul s

12. This booklet contains 48 pages. 12. 38 S ¥ 48 T3 2
13. Please check all the pages of the Booklet :
carefully. In case of any defect, please ask the | 13- ¥ gfecrent & gl gl o1 ey e | af
Invigilator for replacement of the Booklet. 15 2N 2, @1 Fliess 1 39 wgom & T = |
14. Directionsb: Each guestion or incomplgte 14, frd9 : v% 99 U TS 3“{1 FU ¥ W
statement is followed by four alternative
suggested answers or completions. In each HR 3T A1 [h FOH GIE T B | T g
case, you are required to select the one that A 37eh! TRl W ol AT B ST 99 1 GEl I
correctly answers the guestion or completes the 2 37T o T S5 5 o Te g B
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen against I TMerhR @M A, B, C 41D i Hieft a1 e
the question concerned in the Answer-Sheet. Fia-dis< U9 8 He (@) FA 2 | (g@mﬁra
(For V.H. candidates corresponding circle TerfrEaT : A R
will be blackened by the scribe) % fem @ i g
| ‘ . e foran W)
15. Mark your answer by shading the appropriate
circle against each question. The circle should | 15 y=ws Y9 % T 3R 5 H R 65 AT
be shaded completely without leaving any ) )
-‘-‘ space. The correct method of shading is given I ford | 5 1 o e T B famie K |
: below. Teraifera = 1wl il = fear mam & |
[ Wrong Method |[Wrang Methad || Wrong Methad || Carrect Met TEd AT TTa ol | Tem atet TE il
| IOR00I0ZOOI0O® O OIO O®00I0L00JI0®0 010800
' The Candidate must mark his/her response e S 39T T mﬂt@a; o= =R &
after careful consideration. Iqua Fafea e =fae |
I 16. There is only one correct answer to each | 16. Wedish Y94 &1 shael Ush &1 Hal It & | SR
- question. You should blacken (@) the circle of Ty Hiew 379iq A, B, C a1 D % &R
e the appropriate column, viz., A, B, C_or D. lfyou o = (@) HET 2 | 7f2 3y et ww
blacken (®) more than one circle against any one N 3 31 R 55 (@)
question, the answer will be treated as wrong. L TR (@)
If you wish to cancel any answer, you should FT9eh I Tt T ST | At 31 R s
completely erase that black mark in the circle in ®WHRAI =IRG8 al mm—g%m%mwﬁm
:)hfer gf?ss‘:;;assg%enté :nd then blacken the circle @ ﬁﬁlﬁﬁm @[@ T & e & 3 o wet
o _ - B I U Memsr @F ) Fen w3 |
17. A machine will read the coded information in the - X o
OMR Answer-Sheet. In case the information is | 17 31.TH.3TR. IT-TfeT TS e I
incomplete/different from the information given U i vert | A gear srqul # sren see
in the application form, the candidature of such v A G M gea | = R, 9w orefi
candidate will be treated as ca.mcel‘!ed. | R e aaeh Smed |
18. Use the space for rough work given :rj the Question 18. 53 4 % T e v 95 & Ru T =W w5
Booklet only and not on the Answer-Sheet. .
. AR | IE-YRERT W e A |
19. You are NOT required to mark your answers /
in this Booklet. All answers must be indicated | 19. 38 QIFTe1 & 312X Il IR ifera 7@
in the Answer-Sheet only. HE ¢ | I ST I H A 8|

Go through instructions given in Page No. 1 (Facing Page)
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